ABTEFRE

RA& TSR 4/1~17 1 30

1580D#H#16:45

BhT

4|8 |mr| 5|6

B0

i

TREFZI

PTAERBSZE = 8=

£28

a (@] H

=

AFNER F3FER)

10:20

AFR 6%
FHREE

5

$ik

11:25

DUNRY ViEE
2RAVIVFT—Y3aY
SEATIYT—Y3Y

5 1 2 3

12:.00

E

SHAE (1545 IR
ARBDEREIC DN TOHRBPE (1 F4)
KR

5 1 2 3

12:.00

0|+

£3:8

a

2 BFESH=BIET R ]
EERE (15) Epk—
SE8E (2 + 35)

12115

=

R N\—T)L EEEB j
HBOBEIRTS (1 F4) Fi=
LEFHFBINRBELEREER - BREED

14.30

MALERU= =
FEDEERT (1 F4E) e

5 1 2 3

1510

i

LEFHFBRNBE BE- 8 BF |
) Epk—
ZE880D - REFES

5 1 2 3

14:30
1520
1555

kB

FHR=&{Tom (D)
BHER

15.20

19

20

£48
KEDH

21

a | D[ H

SFELEERT A (B £
BRAUIVT—Y3Y v

15.20

22

=

SEERRBT A (D) s
FRIEE—R o

1410

23

SFEEERF 2 D ]
RIGBE—R =
RRIRES (P54 2FE)

1550

24

SFELEERT A ()
RESEH (2~4R) =
PTAMS (F1%) e
SPEBHE (1 - 25)

oNZ=

A 1 2 3

14.00

25

SEERBT A (3D I
MR (GHFE)

1550

26|

21

£58
U—D 52K =

28

BWEMEE (15)

ZERME® R
A=

EBSRBAR « FEBAS

BF)

1425

29

=

BROE E

30

K

===
s

1550

SH

,—

17

E=

FTE

BEWHRlE 78
128 ==(EmH)

ETEBNE 9B ZEERR
1488NFE (1 F)

168 =82 KEXHR

FRIZEEZR 16BARIREZ (15

FREZEETR

208 2F%4RIEE 21B8-228 284£H0EE 238 254E3RLVSER IFETXHHEXREN 268~298 3F4%

288 FREERKEMN( - 2F)

208FFAER (3%)

BZIRIT




